BOM Table
ITEM NO.|PART NUMBER Rev. Description Material Color | QTY.
1 SCREWS-026-004 - SCREWS, 4 PACK 1
1.1 SCREWS-026 - M5X0.8 x 10mm CROSS TRUSS HEAD SCREW 4
2 WQ-665-02 - Hinged Nema Enclosure-Outdoor Use 1
2.1 WQ-66B-02 - BASE GFR10/PC| GRAY 1
2.2 WQ-66C-02 - COVER W/GASKET PC GRAY 1
2.3 WQ-57L-01 -.01 LATCH ASSEMBLY - 2
2.4 WQ-PIN-02 - HINGE PIN SST - 2
~—6.830 )——
92.0° L oo
:; 6 — 9080’/' 89.0
g ———(———————= 3]
A b 8 Sl e B
3
il ] ]
|
It £ C
It :
e H g
P S |
i § y
i J
S
i i 4
e : |
Iy
| : ’
1
i ! ]
o !
Wil S e B
S R - =l 274 TYP.
= B =N ——! |~ 392TYP.
SECTION B-B WQ-4646-02
UL LISTED: UL508-4X
SERVICE TEMP: -40°C to 95°C
FLAME RATING: 5VA
Outdoor Suitability: UL746C F1
~— 8.66] ——
: | l—————— 8 622 E——
| | D166 TYP.— | ==~ 2953 (=—
| j 4X @ .500 —— 984 TYP
L . | 5893
| ! |
o oo 4X INSERT: M5X0.8
Bl m o omom.omomom o Bp) \ : ) N
©@ ©@ ® © ©@ @ ®
984+TYP ©
. . @ ® BOM Table
* ITEM NO.|PART NUMBER  [Rev. Description Material Color QTY.
8.622 © © 1 |SCREWS-026-004] - SCREWS, 4 PACK 1
1.1 SCREWS-026 - M5X0.8 x 10mm CROSS TRUSS HEAD SCREW 4
8.672|5.906 -@ - <> - ® 2 WQ-6635-03 - Hinged Nema Enclosure-Outdoor Use 1
® ® 2.1 WQ-66B-02 - BASE GFR10/PC| GRAY 1
2.2 WQ-66C-03 - COVER W/GASKET PC CLEAR 1
@ © 2.3 WQ-57L-01 -.01 LATCH ASSEMBLY - 2
2.4 WQ-PIN-02 - HINGE PIN SST - 2
1) [ ©
@@&@@@ ®
O O
O 226 3 TOP VIEW WITH COVER HIDDEN
4X INSERT: M5X0.8
WQ-66-03
UL LISTED: UL508-4X
SERVICE TEMP: -40°C to 95°C
FLAME RATING: 5VA
Outdoor Suitability: UL746C F1
114 T T UNLESS OTHERWISE SPECIFIED: PART NO.
. DIMENSIONS AR.E IN: INCHE.S[m.m] WQ'66
TOLERANCES: ANGULAR: #-
i lomocoaoog ma 1% TN MATERIAL
S 4y B — T e
THE INFORMATION conTaneD NTHS | FLAME RATING SIZE = Hinged Nema Enclosure, REV
DRAWING IS THE SOLE PROPERTY OF | 5\/ A QOutdoor Use, with Screw Kit
O e v | o C -
SECTION A-A -~ 1 ——— Ut B RS UL A SN SHEET 1 OF |

8 7 6 5 4 3 2 1



	Sheet1
	Drawing View1
	Section View A-A
	Section View B-B
	Drawing View6
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View13
	Drawing View14


